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STATISTICS

1. If the mean of x1, 2 is 7.5 and the mean of

x1, T2, x3 is 8, then the value of x3 is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MBoRSRwwnFc2

A A9

B.B.8

C.C.75

D.D.6

Answer: A

o Watch Video Solution

2. In a data 10 numbers are arranged in
ascending order. If the 8th entry is increased

by 6 the median increases by


https://dl.doubtnut.com/l/_MBoRSRwwnFc2
https://dl.doubtnut.com/l/_m9wvQzK1EFfE

A.6

B.3

C.2

D.O

Answer: D

o Watch Video Solution

3. The mean deviation of the data 1,3,7,9,10,12

from the mean is


https://dl.doubtnut.com/l/_m9wvQzK1EFfE
https://dl.doubtnut.com/l/_rsdwrzmEgQjJ

Answer: A

o Watch Video Solution

4. The mean deviation of the data 2,7,9,11,15,16

from the median is


https://dl.doubtnut.com/l/_rsdwrzmEgQjJ
https://dl.doubtnut.com/l/_vBXHiXA1v92X

A3

B.4

C.5

D.6

Answer: B

o Watch Video Solution

5. If for a distribution

Y (z—5)=3) (z—5)°=43 and the


https://dl.doubtnut.com/l/_vBXHiXA1v92X
https://dl.doubtnut.com/l/_i64tpenyc5U7

total number of terms is 18 then mean and

variance are

93 , 85
.$=1—8,0' :%
B.a?:ﬁ 02:§

18’ 36
C.:Tr;:E 02:ﬁ
6’ 36
D.i’zﬁ 02:§
18’ 36
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_i64tpenyc5U7

6. If the variance of the data 1,3,7,9,10,12 is 15

then the variance of the date 3,9,21,27,30,36 is

A. 45

B. 135

C.30

D. 90

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tEsCFwHZKkG1

Multiple Choice Questions

1. The measure of central tendency of a
statistical data which takes into account all
the data is

(i) mean

(ii) median

(iii) mode

(iv) range

A. mean

B. median


https://dl.doubtnut.com/l/_XrP0rddobjIS

C. mode

D.range

Answer: A

o Watch Video Solution

2. The mean of five numbers is 30. If one
number is excluded, their mean becomes 28.

The excluded number is


https://dl.doubtnut.com/l/_XrP0rddobjIS
https://dl.doubtnut.com/l/_WoSPKYfsD92m

(i) 35

(iv) 38

A. 28

B.30

C.35

D. 38

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WoSPKYfsD92m

3. The mean of 100 observations is 50. If one of
the observation which was 50 is replaced by
150, the resulting mean will be

(i) 50.5

(ii) 51

(iii) 51.5

(iv) 52

A.50.5

B. 51

C.515


https://dl.doubtnut.com/l/_ZK73USA6xCcF

D. 52

Answer: B

o Watch Video Solution

4, If x is the mean of n observations

L1, Loy T3enen.. x,, then the value of
n
D (x; — &) is (i) — 1 (ii) O (iii) 1 (iv) n-1
1=1
A—1

B.O


https://dl.doubtnut.com/l/_ZK73USA6xCcF
https://dl.doubtnut.com/l/_O1AzftaTi7ul

C.1

D. n-1

Answer: B

° Watch Video Solution

5. Median of the numbers 4,4,5,7,6,7,7,3,12 is (i)

4 (i) 5 (ii1) 6 (iv) 7

A4

B.5


https://dl.doubtnut.com/l/_O1AzftaTi7ul
https://dl.doubtnut.com/l/_dXYS9J7KWcsG

C.6

D.7

Answer: C

° Watch Video Solution

6. The median of
78,56,22,34,45,54,39,68,54,84 is
(i) 45

(i) 49.5

the

data


https://dl.doubtnut.com/l/_dXYS9J7KWcsG
https://dl.doubtnut.com/l/_K5AAI4jecbc6

(iii) 54

(iv) 56

A. 45

B.49.5

C. 54

D. 56

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_K5AAI4jecbc6

7. The most frequently occurring number in a

set of value is called

(i) mean
(ii) median
(iii) mode
(iv) range
A. mean
B. median
C. mode

D.range


https://dl.doubtnut.com/l/_izad1qLQPv1I

Answer: C

o Watch Video Solution

8. Mode of the data

:15,14,19,20,14,15,16,14,15,18,19,15,17,15 is (i) 14 (ii)

15 (iii) 16 (iv) 17

A 14

B.15

C.16

D. 17


https://dl.doubtnut.com/l/_izad1qLQPv1I
https://dl.doubtnut.com/l/_RkXsN9W0wuxA

Answer: B

o Watch Video Solution

9. If the mean of the following distribution is
2.6 Then the value of p is
Variablex: 12345
frequencyof x:4 5P 12
A.2

B.3

C.2.6


https://dl.doubtnut.com/l/_RkXsN9W0wuxA
https://dl.doubtnut.com/l/_fXJ2Yow9UzY2

D.8

Answer: D

° Watch Video Solution

10. The time in seconds, taken by 150 athletes
to run a 110 m hurdle race are tabulated

below:

Class | 198-1 [ -2 [ 2 @8R - 146 | 146-148 | TS
L0 ‘ ) 3 EEEEEE 9

How many athletes completed the race in less

than 14.6sec?


https://dl.doubtnut.com/l/_fXJ2Yow9UzY2
https://dl.doubtnut.com/l/_OSskRGJr4sqQ

A 11

B. 71

C. 82

D. 130

Answer: C

o Watch Video Solution

1. Consider the following frequency

distribution


https://dl.doubtnut.com/l/_OSskRGJr4sqQ
https://dl.doubtnut.com/l/_TAFuIR992V5j

Class @ 05 611 | 1217 | 1823 | 2429
Frequency 13 10 s | 8 | om

The upper limit of the median class in

A 17

B.17.5

C.18

D. 18.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TAFuIR992V5j

12. Consider the data

| ‘V T 1 |

Class | 65-85 | 85-105 } 105-125 | 125-145 | 145-165 | 165-185 | 185-205
{ t

Frequency | 4 )

1
| 13 20 |14 “ 7 4

The frequency of the upper limit of the median

class and the lower limit of the modal class is

A.O

B.19

C. 20

D. 38

Answer: C

| s ]


https://dl.doubtnut.com/l/_SH4jpVhgDKJ6

| W Watch Video Solution

13. The mean deviation for n observations

1, 3. ...... £, from their median M is given
by
(i) (mz — M)

1=1
()= |y — M
i po. 2. x;

1 & 5
Ly M
(iii) — ;(wz )
>3 (2 — M)
\Y P 2. x;

A (mz o M)


https://dl.doubtnut.com/l/_SH4jpVhgDKJ6
https://dl.doubtnut.com/l/_zbw99ARkpNBD

n

B.%Z]wi—M\

1=1
n

1 2
C. — . — M
nzl(w )
0. 53" (@~ 1)
. 2 T;
Answer: B

o Watch Video Solution

14. The mean deviation of the data 4,5,7,8,9,10,6

from the median is

A2


https://dl.doubtnut.com/l/_zbw99ARkpNBD
https://dl.doubtnut.com/l/_S7PHJfuEwlLB

B.3

C.4

D.5

Answer: A

o Watch Video Solution

15. The mean deviation of the data 4,5,7,8,9,10,6

from the median is

A. 187


https://dl.doubtnut.com/l/_S7PHJfuEwlLB
https://dl.doubtnut.com/l/_Oi6FuPINDufv

B.2.32

C.1.71

D. 245

Answer: C

o Watch Video Solution

16. The variance of first 5 natural numbers is
(i) 1
(i) 2


https://dl.doubtnut.com/l/_Oi6FuPINDufv
https://dl.doubtnut.com/l/_j2kR3UPGYfQ7

(iii) 3

(iv) 4

Al

B.2

C.3

D. 4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_j2kR3UPGYfQ7

17. The standard deviation of first 11 nutural
numbers is

(i) 2

(ii) 2/2

(iii) 3

(iv) /10

A2

B. 2+/2

C.3

D. /10


https://dl.doubtnut.com/l/_5Sid1W5ZhbKW

Answer: D

o Watch Video Solution

18. If for a distribution Z(a: —7) =6 and
Z(a: —7)> = 78 and the total number of
items is 12 then mean and standard deviation

are

AZ=1750=25

Cx=750=2


https://dl.doubtnut.com/l/_5Sid1W5ZhbKW
https://dl.doubtnut.com/l/_eFqveRbpk2cu

Answer: A

° Watch Video Solution

19. If for a distribution me — 2400 and
Zwi = 250 and the total number of

observations is 50, then variance is


https://dl.doubtnut.com/l/_eFqveRbpk2cu
https://dl.doubtnut.com/l/_Xn0NWTM5ViRP

Answer: D

o Watch Video Solution

20. The mean of 100 observations is 50 and
their standard deviation is 5. the sum of
squares all the observations is

(i) 50000

(i1) 250000


https://dl.doubtnut.com/l/_Xn0NWTM5ViRP
https://dl.doubtnut.com/l/_jo7Y9ST8Fw9e

(iii) 252500

(iv) 255000

A. 50000

B. 250000

C. 252500

D. 255000

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jo7Y9ST8Fw9e

21. The mean of 100 observations is 40 and
their standard deviation respectively is 10. if 5
is added to each observation then the new
mean and new standard deviation will be

A. 40,10

B.40,15

C. 50,10

D. 45,10

Answer: D

‘ ° Wiadk hh \iAAaA CAaliikianm



https://dl.doubtnut.com/l/_MYZee1Xb2tK3

YVOILLIL VI INAGINI L] J

22. The mean of 5 observations is 4.4 and
variance is 8.24. If three of the five
observations are 1,2, and 6 then remaining two
observations are

(i) 9,16

(i) 9,4

(iii) 81,16

(iv) 81,4

A. 9,16

B.9,4


https://dl.doubtnut.com/l/_MYZee1Xb2tK3
https://dl.doubtnut.com/l/_FV7EVrXXHhTM

C. 81,16

D. 81,4

Answer: B

o Watch Video Solution

23. Let =z,x9,23,........,2, be n
observations with mean x and standard
deviation o. The mean the standard deviation

of kxq, kxo, ...... , kx,, respectively are

() %, ko


https://dl.doubtnut.com/l/_FV7EVrXXHhTM
https://dl.doubtnut.com/l/_lykvgLdOiglP

(ii) kT, o
(iii) k%, ko

(iv)x, o

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lykvgLdOiglP
https://dl.doubtnut.com/l/_Te27zHUzv05E

24.If 1, X9, T3, ......... , £, be n observations
with mean Z and variance 2. The mean and
variance of
x1+k,xo +k, x5+ K, ...... , T, + k

respectively are (i) x + k, o (ii)

T4k o+ E(Gi)Z+k (oc+k)°@(v)zZ, o>
AT+ k, o
B.Z + k, 0% + k?

C.Z+Ek (oc+k)°

D.z,0


https://dl.doubtnut.com/l/_Te27zHUzv05E

Answer: A

o Watch Video Solution

25. Consider the numbers 1,2,3,4,5,6,7,8,9,10. If 2
is added to each number then variance of the
numbers so obtained is

(i) 6.5

(i1) 2.87

(iii) 3.87

(iv) 8.25


https://dl.doubtnut.com/l/_Te27zHUzv05E
https://dl.doubtnut.com/l/_Di424kLbI4Fo

A. 6.5

B.2.87

C.3.87

D. 8.25

Answer: D

o Watch Video Solution

26. A set of n values z{,x9,......., 2, has
standard deviation o. The standard deviation

ofnvaluesxzy — k,xz9 — k,.......,x, — kis


https://dl.doubtnut.com/l/_Di424kLbI4Fo
https://dl.doubtnut.com/l/_pbhqIjTzRRXz

Ao —k

B.o + k

D. ko

Answer: C

o Watch Video Solution

27. A set of n value x4,x9,........,x, has
mean x and standard deviation o. The mean

and standard deviation of n values


https://dl.doubtnut.com/l/_pbhqIjTzRRXz
https://dl.doubtnut.com/l/_ZM6M2YIKddnE

Answer: B

, %(k # 0 respectively are

| 8


https://dl.doubtnut.com/l/_ZM6M2YIKddnE

28. Calculate the possible values of x, if the
standard deviation of the numbers 2, 3, 2x and

11is 3.5.

W3 w| ot

C.34

w| =3

D. 3,

Answer: D

[ 1


https://dl.doubtnut.com/l/_ZM6M2YIKddnE
https://dl.doubtnut.com/l/_i0b35ju3qi0f

I O Watch Video Solution

29. The coefficient of variation of two

distributions are 70 and 75 and their standard

deviations are 28 and 27 respectively. The

difference of their arithmetic means is

A2

B.3

C.4

D.5


https://dl.doubtnut.com/l/_i0b35ju3qi0f
https://dl.doubtnut.com/l/_6mbqrd1ds4Mj

Answer: C

o Watch Video Solution

30. The coefficient of variation of distributions
are 50 and 60 and their arithmetic means are
30 and 25 respectively. The difference of their
standard deviations is

A.O

B.1

C.15


https://dl.doubtnut.com/l/_6mbqrd1ds4Mj
https://dl.doubtnut.com/l/_1w9TFE1N9kL3

D.25

Answer: A

° Watch Video Solution

3. Letxzq, o, ...... , x,, be n observations and
x be their arithmetic mean. The formula for

the standard deviation is

A. Z (z; — Z)°
> (zi — z)°

n

B.



https://dl.doubtnut.com/l/_1w9TFE1N9kL3
https://dl.doubtnut.com/l/_yRiLb4F7siPx

Answer: C

o Watch Video Solution

32. The marks scored by 10 students in a
monthly test are:
913,17,6,8,13,11,10, 5,9

The median marks are


https://dl.doubtnut.com/l/_yRiLb4F7siPx
https://dl.doubtnut.com/l/_hXZm082wmp90

A9

B.10

C.95

D. 10.5

Answer: C

o Watch Video Solution

33. If the median of the numbers 6, 14, 15, 17, x-
1, x+2, 29, 32, 35, 45 written in ascending order

is 21.5, then the value of x is


https://dl.doubtnut.com/l/_hXZm082wmp90
https://dl.doubtnut.com/l/_U8ZcOtDl4xHb

A. 20

B. 21

C. 22

D. 21.5

Answer: B

° Watch Video Solution

34. Find the @7 and Q3 for the following

distribution : 5, 3, 6, 3,13, 9, 8, 24, 19, 20, 18.


https://dl.doubtnut.com/l/_U8ZcOtDl4xHb
https://dl.doubtnut.com/l/_LmoXFSKoN1vK

A.6

B.5

C.3

D.5.5

Answer: B

° Watch Video Solution

35. For the data given the inter-quartile range

IS


https://dl.doubtnut.com/l/_LmoXFSKoN1vK
https://dl.doubtnut.com/l/_NGHz7lpZB0UR

A7

B.19

C.14

D.9

Answer: C

o Watch Video Solution

36. For the data : 28, 17, 12, 25, 26, 19, 13, 27, 21,

16, the third quartile is


https://dl.doubtnut.com/l/_NGHz7lpZB0UR
https://dl.doubtnut.com/l/_EdF26Je5n3CS

A. 255

B. 26

C. 26.25

D. 26.75

Answer: C

0 Watch Video Solution

37. For the data For the data : 28, 17, 12, 25, 26,
19,13, 27, 21, 16

6th decile is


https://dl.doubtnut.com/l/_EdF26Je5n3CS
https://dl.doubtnut.com/l/_fKBMwyfeoktr

A 22

B.234

C.24

D. 25

Answer: B

° Watch Video Solution

38. For the data For the data : 28, 17, 12, 25, 26,
19,13, 27, 21, 16

70th percentile is


https://dl.doubtnut.com/l/_fKBMwyfeoktr
https://dl.doubtnut.com/l/_y1GIGL1lQ5T5

A. 25

B. 26

C.25.25

D. 25.7

Answer: D

° Watch Video Solution

39. For the distribution z; : 18, 20, 9, 15, 21, 26,

14,13, 27, 22, 16, 28, the 7th decile is


https://dl.doubtnut.com/l/_y1GIGL1lQ5T5
https://dl.doubtnut.com/l/_YOUypVAgIsiu

C.(c)24

D. (d)22.4

Answer: D

o Watch Video Solution

40. For the distribution x; given 18, 20, 9, 15,

21, 26, 14,13, 27, 22, 16, 28 the 40th percentile is


https://dl.doubtnut.com/l/_YOUypVAgIsiu
https://dl.doubtnut.com/l/_XbhtRi8bqnUb

A.16

B.16.4

C.15

D. 18

Answer: B

o Watch Video Solution

41. In the following frequency distribution :

z 0135 6 8 10
f 2672 19 15 3


https://dl.doubtnut.com/l/_XbhtRi8bqnUb
https://dl.doubtnut.com/l/_M081f5YjwAEX

The mode is

° Watch Video Solution

42. If the median and mean of moderately

asymmetrical frequency distribution are 72

and 74 respectively, then the mode is

A. 68

B.76

C.75

D.70


https://dl.doubtnut.com/l/_M081f5YjwAEX
https://dl.doubtnut.com/l/_ZESkk0RnYGPv

Answer: A

o Watch Video Solution

43. If the mean and the mode of a moderately

skewed frequency distribution are 90 and 96

respectively, then the median is

A. 93

B. 92

C.98

D. 88


https://dl.doubtnut.com/l/_ZESkk0RnYGPv
https://dl.doubtnut.com/l/_Q6qqevPnifqT

Answer: B

o Watch Video Solution

44.The abscissa of the point of intersection of

less than type and more than type ogives

gives its

A. mean

B. mode

C. median

D. all the three measures


https://dl.doubtnut.com/l/_Q6qqevPnifqT
https://dl.doubtnut.com/l/_ltfMtbx3ODxy

Answer: C

o Watch Video Solution

45, (), is always equal to :

A P,

B-P10

C.P25

D. P50

Answer: C


https://dl.doubtnut.com/l/_ltfMtbx3ODxy
https://dl.doubtnut.com/l/_nKYPig96pokL

° Watch Video Solution

Exercise 28 A

1. One set of 100 observations has the mean 15

and another set of 150 observations has the
mean 16. Find the mean of 250 observations by

combining the two sets of given observations.

o View Text Solution



https://dl.doubtnut.com/l/_nKYPig96pokL
https://dl.doubtnut.com/l/_aaVxn3q34SLd

2.The mean age of 40 students is 16 years and
the mean age of another group of 60 students
is 20 years. Find out the mean age of all the

100 students combined together.

o View Text Solution

3. The mean of marks obtained in an
examination by a group of 100 students is
found to be 49.46. The mean of the marks

obtained in the same examination by another


https://dl.doubtnut.com/l/_UNUoteNh6mo4
https://dl.doubtnut.com/l/_5u1KkWPkEJHQ

of 200 students was 52.32. Find the mean of
the marks obtained by both the groups of

students taken together.

o View Text Solution

4. Two samples of sizes 50 and 100 are given.
The mean of these samples respectively are 56
and 50. Find the mean of size 150 by

combining.

o View Text Solution



https://dl.doubtnut.com/l/_5u1KkWPkEJHQ
https://dl.doubtnut.com/l/_dZTo5udqXtkc
https://dl.doubtnut.com/l/_gp6Gf9lcDmqA

5. The mean and standard deviation of
distribution of 100 and 150 items are 50,5 and
40,6 respectively. Find the mean and standard

deviation of all the 250 items taken together.

o View Text Solution

Exercise 28 B

1. Find the median of the following sets of

data:

2,3,5,7,9


https://dl.doubtnut.com/l/_gp6Gf9lcDmqA
https://dl.doubtnut.com/l/_CFXLh2tfZ8cr

° View Text Solution

2. Find the median of the following sets of
data:

4,8,12,16,20,23,28.32

° View Text Solution

3. Find the median of the following sets of
data:

60,33,63,61,44,48,51

| e |


https://dl.doubtnut.com/l/_CFXLh2tfZ8cr
https://dl.doubtnut.com/l/_O5UNZngC5KYn
https://dl.doubtnut.com/l/_Ngvxd9ibDf6b

L ® View Text Solution I

4. Find the median of the following sets of
data:

13,22,25,.8,11,19,17,31,16,10

° View Text Solution

5. Find the median of the following data :
41,43,127,99,61,92,71,58,57, If 58 is replaced by

85, what will be the new median ?

l ° View Text Solution


https://dl.doubtnut.com/l/_Ngvxd9ibDf6b
https://dl.doubtnut.com/l/_ajG3DpKFs7hL
https://dl.doubtnut.com/l/_JCZeUjsRSTiC

6. Find whether the following statements are
true or false:

The median of a discrete ungrouped frequency
distribution containing a number of items is
the value of the middle item, the data being

arranged in ascending or descending order.

° View Text Solution



https://dl.doubtnut.com/l/_JCZeUjsRSTiC
https://dl.doubtnut.com/l/_YNxABH80glX1

7. In a school examination it is decided that
exactly half the pupils will pass. Name the

measure of central tendencty that is used.

o View Text Solution

8. (1,2,3,6,8) is a set of five positive integers
whose mean is 4 and median is 3. Write down
two other sets of five positive integers, each

having the same mean and median as this set .


https://dl.doubtnut.com/l/_8IpQnU0XM98m
https://dl.doubtnut.com/l/_H5rKXpgnrkho

Find the median from the following

distributions :

° View Text Solution

9. Find the median and first and third quartile
for the following data :

2,4,6,8,10.12.14.16,18,20,22

° View Text Solution



https://dl.doubtnut.com/l/_H5rKXpgnrkho
https://dl.doubtnut.com/l/_C2kZ3CjP1Fhv

10. Compute Qq, Qs3, D3, Dg and Dg for the
following data:

14,7,13,12,13,17,8,10,6,15,18,21,20

o View Text Solution

11. Following are the scores of 12 students in a
class test of 30 marks :

18,20,9,15,21,26,14,13,27,22,16,28 Find D, and Ps;

o View Text Solution



https://dl.doubtnut.com/l/_aaZOM5p9kMfe
https://dl.doubtnut.com/l/_ZIJ1NyJIJRDM

Exercise 28 C

1. Find the mode of the following data :

3,4,/11,4,3,4,5,64,1,4,2,4.4

o View Text Solution

2. Find the mode of the following data :

Size of shoes : 4,4.5,5,4.5,5.5,5,6,4.5,4,4.5

° View Text Solution



https://dl.doubtnut.com/l/_RhrDVdhZJtDe
https://dl.doubtnut.com/l/_UFo2nlRbvbb6
https://dl.doubtnut.com/l/_KbiY1dIng2Ls

3. Find the mode of the following data :
Wages ( >, )

100,120,100,120,130,120,120,130,120,100

o View Text Solution

4.Find the mode of the following data :
Runs in an innings

18,32,0,40,60,69,33,69,35,11,20

o View Text Solution



https://dl.doubtnut.com/l/_KbiY1dIng2Ls
https://dl.doubtnut.com/l/_F6X7PxLNzaUF

5. If the frequency of the class 70-85 is 13

instead of 3, then what difference will it make

?

o View Text Solution

6. Find the mean, median and mode of the

following :

The data

17,32,35,33,15,21,41,32,11,18,20,22,11,15,35,23,38,12.

° View Text Solution



https://dl.doubtnut.com/l/_dHx6SF0nJ7jK
https://dl.doubtnut.com/l/_fpDr08ZHIEqT

Exercise 28 D

1. In an asymmetrical distribution mean is 58

and median is 61. Calculate mode.

° View Text Solution

2. If mode in a tolerably asymmetrical
distribution is 12 and median is 16, what would

be the most probable mean ?

l ° View Text Solution


https://dl.doubtnut.com/l/_fpDr08ZHIEqT
https://dl.doubtnut.com/l/_VsIAiTZ69kTz
https://dl.doubtnut.com/l/_veDovmya1KSm

3. Fill the median if mean is 40 and mode is 36.

° View Text Solution

Chapter Test

1. The means of two sets of sizes 40 and 60

respectively are 15 and 16 and the standard

deviations are 3 and 4. Obtain the mean and


https://dl.doubtnut.com/l/_veDovmya1KSm
https://dl.doubtnut.com/l/_p4OyYETNw5nG
https://dl.doubtnut.com/l/_W44rLf9zxt28

standard deviation of the composite set of 100

items when the two sets are pooted together.

o View Text Solution

2. Find the median of the following values :

7¢m,9cm,10cm, 12 cm, 15 cm ,18 cm, 20 cm.

o View Text Solution

3. The marks obtained by 12 students our of 50

are as under:


https://dl.doubtnut.com/l/_W44rLf9zxt28
https://dl.doubtnut.com/l/_7KRIjoMtPvMP
https://dl.doubtnut.com/l/_p52n8KR9k3SD

25,24,2332,40,27,30,25,20,15,16,45 Find the

median marks.

° View Text Solution

4. Compute ()3, Dg and P, for the following
data:

28,17,12,25,26,19,13,27,21,16

° View Text Solution



https://dl.doubtnut.com/l/_p52n8KR9k3SD
https://dl.doubtnut.com/l/_rvteBeSGaJv8

